DIvISION WITH A REMAINDER II (H - SET 1)

DIVISION WITH A REMAINDER Rame:
Time: Score: y—
500 19018 = & = 316 17110 = 3 =
52 10605 = 8 = 311) 43559 = 7 =
303) 5486 = 1 = 318) 32868 — 7 =
300 50510 = 6 = 3190 91387 = 10 =
305 31875 + 5 = 3200 629 =4 =
3060 17159 — 5 = 321) 43654 =~ 9 =
307) 24299 = § = 322) 18283 + 3 =
308) G787H = & = 323) 36795 + 10 =
309 36164 = 8 = 324 28379 =9 =
3100 21520 = 3 = 325) 1260 = 10 =
sy 48703 + 7 = 200 1244 + 2 =
312) 20000 = 7 = 32) 14252 =2 =
313) 6513 +5 = 325) 34549 + 4 =
310 46942 =— 5 = 3200 15898 = 3 =
315 12616 = 2 = 330 40961 = 6 =
Mathematics: Division - Level § - Horizontal - Set 1 12 culu
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